orgel 47h) meh TR ARE W, (1) T (2) o &L vheA 9
13

Zte sin cos tan
34° 0.5592 0.8290 0.6745
35° 0.5736 0.8192 0,7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225
@ (1) x=36° y=0.8142 (2) 34.235
® (1) x=36° y=0.872 (2) 36.215
@ (1) x=35° y=0.8192 (2) 40.45
® (1) x=136°y=0.802 (2) 36.95






3. = ™A x, 2y & A7E?

xz
O o
60
Y
@® /zx=60° 2zy=30° @ /x=90° 1y =755°
® /x=40°, /y=50° @ zx=40° ry=060°

® /1x=60° 1y=060°



.
‘:‘r%/{%]ﬂ Zro] 5.0ptBC = A

5.0ptCD = 5.0ptDE 2 1, /BAE 7
o] A7]=? g
E
B )
C

@ 60° @ 70° ® 80° @ 90° ® 100°



e 2" 2o 7 o] A P,Q oA i, H P,Q € AdE
o] = A3 A2 A A, B 2 A C,D oA whdth. /PAB = 80°
¢ o, ,PCD 9] 27]& F-35tofzh




6. o= I™HAA wx, 2y & A7E?

@ zx=30° sy =80° @ /x=30° sy =90°
® zx=30°, Zy = 100° @ /x = 40°, Ly = 80°

® zx = 40°, 1y = 90°
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jure]

H

el
NH
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3 Eo

Ith. ©]

s

e
0%

Lo

68, 75, 78, 80, 65, 72




23]
87

33
83

o

Z
&

o

43
90

thebdl Zolet. o]

53]
80



10. o5 Z2#elA AC 9] ZolE Fstoiet,




11. & I¥804 AB = 9 0 9] A|Zo]11 C
/AOC = 120°, /ADC = 90° , AQ =
12cm & o], AAOC 9] Yo]=?
120°

A om0 D
D 12V3cem? @ 24+3cm? 12 cm
® 36 V3cm? @ 48+/3cm?
® 60V3cm?




12. o5 2314 24 PA, PB = €] 34
ol FA, B & AAelth. PAB = 60°
A, AB ] Zol=?

® 12V3cm @ 6vV3cm

@ 9cm ® 12cm

® 6cm



13. o5 284 PA, PB7FE 0 o HAAL W, x,y o Zol& &Adl=




14. & 19 Yof &A= AHZE ABCD oA AE
4,CG=6,BF =y,AD+BC+CD=30% uf, AB °

ofzt.




15.

ohe 2 o] A4

ABCD 9] Al ¥l Het=9 A~

07t eleh DR Qe H :
AolT A HE G HZFH
I
AL W, o 5 eA g g4 .
AL : °
‘\
\
B~-9--E

@ AG ©] Zol 2 oJth

@ DH 9 Zo]9] Zdol& 4 o]t

® EF =1 o]t}
@ CF =4 o]t}
® ACDF 9] Yol 6 o]t



16. o= ™A 2x 9 27]E 517

@© 49° @ 51° ® 55° @ 59° ® 62°



17. e 2804 PT 7} 9 0 ¢ HAo|,

— —
oltt. PA, PB 2t ¢ O o] W= H& 44 C,D =L

o] 27]%9

O 66° @ 67° ® 68°

@ 69°

® 70°



©9

of %k

@ 4 ® 6 @ 8 ® 10

D 2



19.

cos2 60° x tan 45 ° — sin® 60 ° X cos 45 ° 2] ZH-&9

©)
@

1-2v2
8
3-242

8

©)
®

1-3v2

8
4-342
8

©)

2-342
8




20. o2 1™oA A =60°, BC = 6cm &
W, 919 0 o AT Aol
@ 3cm @ 4cm
® 3cm @ 24/3cm
® 3vV3cm




21.

th&a ZHo] AABC o4 AC = 5,

=4,/,C=45°,AD.1BC ¥ o,
o] Ao|& FotdA?




22. o2 T4 AABC 9] Hol7t 50 V3em? &, x O] 27

@ 20cm @ 2lcm ® 22cm @ 23cm ® 24cm



— N N
23. 2 2P AB = 9 0 9 AE0]3 50ptAD = 5.0ptCD,
/BAC = 44° 94 o}, zx 9] 27]&2

N,
N

»

® 21° @ 23° ® 25° @ 27° ® 29°



24.

o2 2o A 3 0 = Yo F4, AA
AC &= ¢ HAo|t}. /BAC =120°
o o, CD : DB € 7teteh H| 2 v 27
LrERA 7129

D 3:2 @ 1:2 ® 4:5
@6:4 ®3:8

C




25.

A A 2

(V3+1)x+ V3=02 F & tana, tanb 2L Z

b 9] A71E? (&, tana < tanb , a,b = |2}

O o°

@ 30° ® 45° @ 60° ® 80°

Ol



